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January 10, 2005
Dear Mr. Trabosh:

We started out in this unit with learning a game, The Game of Pig. We played the game a
few times, and tried to find the best strategy. In fact that is what we were trying to do throughout
the entire unit.

We then played some probability games and found probability is expressed as P(1/2). We
also flipped coins to review what we learned in years prior about probability. We also played a
game Waiting for a Double, were we wanted to see how many heads we could get in a row. We
also graphed this data on both paper and our TI-83+. Probility/is simply possible for 1/total
possible =
o

We then watched darts fall randomly from the ceiling onto rug. We found the probability f
a dart landing onto each color. These basic rugs were the start of highly complicated rugs getting
into hundreds of squares.

We then played with dice and the probability of rolling numbers using 2 dices. We listed
all of the combo nations on to a chart, which I later found out, could also be a called a rug. Iliked .
this way of arranging data better then a tree. They can get highly complicated at times. Also you
can make a rug with the diagonal down the center crossed out if the condition came up once, (One
sock), it can’t come up again. (Can’t have the same sock 2x) You might also need to add the points
from both turns.

H or H T Turn 1 Turn 2 Turn 3

o - Red —Done!
5 6dn PIQ Red 4White ~—Red —Done!
H HH |HT White——Done!
o ’ [,Z-Trte -9 <Red Red ——Done!
White White——Done!

- Rk} &1 Chas J‘/ O‘dﬁ White —— Done!

We then learned about Al and Betty spinning spinners for money. Here we were introduced
to the concept of Estimated Values, which we carried till the end of the unit. We learned that
(points* probability *turns) was the key to finding E.V.’s

Next up was one and one where we only divided parts of rugs into smaller sections and
then finding EV’s. This dividing and some sections being worth points carried on to the end of
the unit. We used %s now but we could also use the numbers, if the chance of getting each option
is the same, like rolling a die in the game of pig.

We then played a lot more variations of these games. We also learned about a paper carrier,
who had to options to see which one is better. We played these games many more times.

At last it was time to revert what we had learned back to pig. At first we played little pig,
and then took what we learned to big pig to find the best place to stop was 20 rolls. T also found a
shortcut to this 20 number by playing should I go on?

Sincerely,

"ichael Plasmeier
PD.:7
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If %ou flip a coin tglree 't%mesci you get eight possibie outcomes.
outcomes as problem 1 and then compute 2 through 5. Write e
fraction in lowest terms. X SRRSIRESRE

. M HHT HTH HTT T Tl TTH
The probability of : | |
2. Getting exactly three heads 2 ”72

3. Getting exactly two heads 3. ’:’

4. Getting at most two heads 4. "~

5. Getting at leasttwo heads 5_’_ /é\
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Name L covdel Vidoive ¢4 Quiz #1 (50 points)
r Date _.{:';f'.".} S 15 Game of Pig
‘, Find the probability for each event. :
- //," \
{5 pts} /.:‘ 4 ,1’....:’._.; ‘;,
1) Flip a cqir? two times: P(exactly one head ) = 4 V\Z /
l‘:i e _1‘_ )
o T T
| ';'lfﬁ-.‘ : l
. e S ; "‘.""‘"' f
[
A
2) Roll a six-sided die, numbered 1 to 6: P(even number) = _C ( 2/
Ny
f : ’,f
N
o’
{5 pts}
3) Picking two socks, one at a time, from a drawer that contains three brown and two
blue socks : \
P( two blue socks)z?{ 20
-l ol
v -
/ ‘ /
) R ]
- & (\ 'I/ ) (/] fen
H II,JL' I / (& /
{5 pts}
4) A red, white, and blue spinner is divided into three equal regions:
{
D P(spinning two times & getting red both times) = _ T
)
\
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Draw an AREA model and find the proba'bility.

5) Flipping & coin and tossing & die numbered 1 to0 6. i
{5 pts} ‘ 5 pts} ‘ p
a) Find: P(H6)=_77 b) Find: P(T,odd number) = _/
5 pis) /

AREA MODEL or TREE DIAGRAM

Draw an AREA model and find the probability.

6) Spinning a red, blue, & white spinner with equal parts and flipping a coin. ~

@B pis) { # pts) g gk
s) Find: P(White, T) = __[. b) P(notwhite, Hy= = 3/
{5 pts} ‘\_/a'

AREA MODEL or TREE DIAGRAM
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A $10bill, $ 5bil, andfour$ 1 bills are placed in a bucket. Find the expected value

per turn, if you are allowed to pull two bills, one at a time, without replacing the bill pulled

first. Draw an area diagram (rug) and show all of work necessary to support your answer
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2. Billy has 90 % accuracy from the free-throw line on his first shot, but only 70 % accuracir"' N
on his second shot. Draw an area diagram (rug) and show all of work necessary to ;
support your answer in finding his expected points per one-and-one situation. s
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GRADING FOR POW 4

Answers to Problems 1,2 & 3

Points

Omitted

One correct answer im

-0
oy

Two correct anSwers

All 3 correct

Process (Problems made up to help)

Unrelated to the problems

Incomplete- only two extra problems

More than two extra problems — specifics omitted
Three or more extra problems, but drawings, tables omitted

o N DO

@'e“or more extra problems, with drawings, tables

Ultimate Goal

Incorrect formula —

Correct formula -

Total Points e
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GRADING FOR POW 5
Points
1) Process \
LA L ~~§» ko[
.5 )
710}
. 4 ,
thebretical aﬁall}‘;‘sislorrﬁtted ' 0
Y. X erlmental analysis included - 4 B
' ‘hesretical analysis included ---- 4
Experimental analysis included but theoretical analysis is incorrect -------- 6 (é/
Correct theoretical analysis & expenmental probablhty mcluded ----------- 10
Total Points 20
* )
el ©
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~ " GRADING FOR POW 6
Points
1) Strategies
Description of strategy omitted 0
Incomplete description of strategy -5 T\
Complete description of strategy for original game ==10 /
2) Generalizations
Incorrect formula no support 1
Incorrect formula some support 3
Correct formula for winning original game of Linear Nim ----------- 6
Correct formula for winning any game of Linear Nim ---------------- 8 ol
(Who goes first omitted or incorrect) ’
Correct formula for winning any game of Linear Nim ---------------- 10
Total Points /20






4@ Mfd&of’ Plagy & ’///0
[ | Ghe wugﬂ-f T H See
H WM [H,
y B v B A




—-—

-

ny-ﬁjﬁ T_Un
6 0% bl C) 2

e

Vo. 40°%

Vang " = GBE % Z .13 0%

Yes. bU%

/
No 4o, W00Jus 2 331 797

¥ L (0h Yo . l0% L[BE.E T e
i N v WORRETNG
R oL I‘MP? To §Coyr D R
(l_l [, 34 f:f/ NaL ) e I
7 _\[Tomeer AN WV le Jolttiony

Fosa -y

Nest ¥ renyent= 7

3.

ve@ae )
v

J I: ldd |

f;:d/'i

2008

st Loy ()

2| Rdverage = 163 ' Ao g
i > ’lg(_—) i Ly /
" (:(06 o D ({()[Lf )f!'_\ (\ | ] Ap (O ha 6
S TR AN RN A e
(O 15sq  257~30u \yke )

i




WA Am’fj W

!

= =50 =85 1 s -
Xide i f .
bl AL . s DI AN Y /s %570 o Lﬁ e

0‘/’. = B R
../ LJ/,A S
=57 240!
AR
sy
VP P &
) rég-
T ] T
TR UG TS T RIS
i =Sy €O
3 F \ R i ¢ F 3
/):'5 Or) ‘ (} ! : I\?ﬁs‘y’ 4 ”i*{\/
b%

qaﬁ
- |
U 4]

Nw‘# (;;6((12

%y?@( %@& =‘\/5‘ l" ¢

o : Ty P e Em———
o 2P B Sk IR

N 700'5\7021"'1/(/()

{;,(4 {(Oakf\ ’ a Qe Ty
T = T

\\_ i )
—— 3 #
) e s &

y i

140
LAY R 7

g

T e R



1 =T
( oerice Poymbal( #[9)

0/ -
Hl».(w( Flaire &
: \z& e
\ : l (o \

§ o =
KW%%%N%\Aﬂm \
I3RS |

BT
G oy Nase— 1]
= I3 AL
1]

: A
L S 06 ?@WE’E’(A &

fr W; e ;:\ Am/n 0 equal M'%;M

] |
| LN AR Y X TPV TR e
iy ] " B asEr & vlgg?lu§
\ § - 6% Dl & T e | ¢t
7 20 G (A Sl e Bt )
A AEERRTE W TR L i
Nigd "o Bag| Ty [T e
}&i DEEXy T 0 Ty R 2
SNl e Hoan ae \ (| TR R
s e S . e ’
¢ i Gz v 0"

Y, M&h 1 ,(ﬂxl M///A'j//m( %_#M

ﬁf/ﬁ/lﬂ/d/@ Jf 7/46




Pig To (@@

€ el Aasip 2/

L oy ol got Toc 0 co odeotige 4s & pec ter g,

e

(l/_
%

r /;Z \ﬁ{) hi ﬁ:{f};
O 2 T

N

Nt == | 3
gl 5 HHR HAT HTH HI1 e AT TTHTrT’p@;/fm

iOQ q: ?I*éoﬁmrs émg i o il 2 berng ace f{’Q %é& -

lco IL .ll Arpe— 2 q LI'L =
4 i
1A h




p- i
Red = A1 +
Bb? }q
' .—T—ﬂ' L t \?— \S:g { ; )
v ol ¥ 8 Fd ?,3 X ;?L—'?G
N S iy T BRI S Y ¥ : '
PR e K o LRGEERET AR
= ' H 2L ’7@"7"7;05
e aey i 'I'na’ .7 ,
e W B
&__/ﬁ 12: L "CO‘\
c K J 2o
& o = —| _ l o 5), T 7/ o174 r&unr 3
(B} o 1
S N L‘J,&,/\ 49 g 16 g il f)“’)“””””
TCCankd e ey P e

{
o i
/’\I"T“‘“':l B
[t [~ 97
¢)




IA,V, ..,. P~
‘‘‘‘ M s
i

o 4o _

™~ P m NI
S | ;

(o) o= NV ~ 1| X
oF | N | . T :
~{olo i | Q.

?4.7 { "Heldo Bl
P . i
2 RIS i
T ‘ 4 3 -~
<& ol P 1+ 42 .Q—S
: N o/l@ * : 1/
3 ™~ 7 e ol
‘\_ ) i <D o ~ ~ ™ b e ~
— | | <D 3......+ Pa QTQ | AL B
/ > | \ —
o 18 A A m %l TTEJA> ruJ.Ur
: 4 : ™~ x..l.. 7_ i ) ‘ ; I, .tlu e | —
<P ¢ 1 JW?N;AJ% B _m m @ 5N 3\ e |~ h 4 \.m‘ Ca i
A (ST e L ! N - Vol Qr?n&@ &
2A\N [ iat |- b b ~ e, A8
I SN E S | QP PN, u
] B o SO ~ /..Ill. : @!ﬂu .lana..l.{Q.V
o | N e B s w
..
.Mr n.r,_/ / —
. ot
3 b Ak
- il ﬁ
S op P i
> ) o
as —~




{

[lore Z'H /’9 ’0" 735

£
N e
f'/;\ i) 2 é\ (_J Rt K'P 27
O S WA
o A - G RO
_.‘.:2_ X A
77 RN M
27 1809 "3
2 & x4 -3

i (‘3. _ ]
£ R P e ST
R s e
: > 7N

ok 3 .
S Y=y < 117/
v 3 o L [
3~
28
Tweh




u .?
&

A

=

.:.:“3{{ i
v

-

;

0

Iy
<

L
ra

\.
b

<y NP

g

of =
o

g
AR

" o

E2 | [57S] Ly

o

37 J

= o -

. S |
24 ]245" 2,36 Fl/pk pectary

e ——
L plS X = T
- e 2499
watiE o 7 —~
e 1 ‘
LU B

"N AN
59}
&

Pl
‘P I :
" 4 !ﬁ-‘ E 'n"d’ ‘Qé( i




